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QUESTION 1

Examine these parameter settings: 

Now examine this statement: 

ALTER TABLESPACE undotbs1 RETENTION GUARANTEE; 

Tablespace altered. 

Which two are true about undo retention in this configuration? (Choose two.) 

A. Unexpired undo is retained for at least 900 seconds before being deleted to free up space even if other transactions
fail due to lack of space in the UNDO TABLESPACE. 

B. Active undo is retained for at least 900 seconds before being deleted to free up space even if other transactions fail
due to lack of space in the UNDO TABLESPACE. 

C. Undo data is written to flashback logs after 900 seconds. 

D. Expired undo is retained for at least 900 seconds before being deleted to free up space even if other transactions fail
due to lack of space in the UNDO TABLESPACE. 

E. Undo data expires after 900 minutes. 

F. Unexpired undo is retained for 900 seconds, only if free undo space is available. 

Correct Answer: DF 

 

QUESTION 2

You notice a performance change in your production Oracle 12c database. You want to know which change caused this
performance difference. 

Which method or feature should you use? 

A. Compare Period ADDM report 

B. AWR Compare Period report 

C. Active Session History (ASH) report 

D. Taking a new snapshot and comparing it with a preserved snapshot 

Correct Answer: A 
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QUESTION 3

Which users are created and can be used for database and host management of your DBaaS database servers? 

A. opc and oracle users 

B. root, oracle and cloud users 

C. root and oracle users 

D. root, opc and oracle users 

E. cloud and oracle users 

Correct Answer: A 

 

QUESTION 4

You find this query being used in your Oracle 12c database: 

Which method a used by the optimizer to limit the rows being returned? 

A. A filter is added to the table query dynamically using ROWNUM to limit the rows to 20 percent of the total rows 

B. All the rows are returned to the client or middle tier but only the first 20 percent are returned to the screen or the
application. 

C. A view is created during execution and a filter on the view limits the rows to 20 percent of the total rows. 

D. A TOP-N query is created to limit the rows to 20 percent of the total rows 

Correct Answer: C 

 

QUESTION 5

Your database is configured in ARCHIVELOG mode. 

Examine the RMAN configuration parameters: 
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Examine the command: 

RMAN> BACKUP DATABASE PLUS ARCHIVELOG DELETE INPUT; 

What is the outcome? 

A. It fails because the DELETE INPUT option can be used only with the BACKUP AS BACKUPSET command. 

B. It executes successfully and creates a backup set of the database along with archived log files and then deletes the
original archived log files. 

C. It executes successfully and creates an image copy of the database along with archive log files and then deletes the
original archived log files. 

D. It fails because the DELETE INPUT option can be used only with the BACKUP AS COPY command. 

Correct Answer: B 

References: https://docs.oracle.com/cd/B13789_01/server.101/b10734/rcmbackp.htm 
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